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You have been called for the written test based on the online data fumnished by you in the web application.
If you have wrongly entered in the web any information or you do not possess the required
gualification as per our advertisement, your candidature will be rejected.
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The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is
90 minutes.
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The questions will be objective type with four options out of which only one will be unambiguously correct.
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Each question carries 01 mark and 0.33 marks will be deducted for each wrong answer.

FIA ZET G55 SW/P.T.0.



5. et & IR 3N & T FEA @R 9T AR 36T FTANR Sea-gieaHr & se)
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T TE 3ca] & T HET ¢

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
bluefblack ball point pen.
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Multiple answers for a question will be regarded as wrong answer.
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Question booklet code printed on the top right comer should be written in the OMR answer sheet in the
space provided.
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Enter your Name and Roll Number correctly in the question booklet.
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All entries in the OMR answer sheet should be with blue/black balt point pen only.
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You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

Computers, calculators, mobile phones and other electronic gadgets, text bocks, notes etc., will not

be allowed inside the written test hall.
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On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

14, ye-gfeaa et v o @ FH E
The question booklet can be retained by the candidates.
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Candidates are not permitted to leave the examination hall during the examination.
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dafoT ¥Egs (WA FAE) / SCIENTIFIC ASSISTANT- (CHEMISTRY)
@ & & i 987 3T FT 30T 772

Which of the following is an example of a Lewis acid?

(a) HC1 (b) H2SO4
() AlCls (d) NaOH

Az AT Fr st (Mg (1) 3iieass) 9= & AT Ry 5 sar &

Il Pb(NO3)2 #I Y&TT 50% §, @ 1075.95g PbO & IcUleet axa & AT 3Maeq®: Ph(NO3):
T AT F4r 87

(Pb(NOQs)2 T Hvifasw HR = 331.2, PbO I IMUTfd® HR = 223.19)

Lead nitrate is decomposed to produce litharge (lead (If) oxide)

If purity of Pb(NQO3)z is 50%, what is the quantity of Pb(NOa): required to produce 1075.95¢ of
PbO?

(molecular weight of Pb(NO3)2 = 331.2, molecular ﬁeight of PbO = 223.19)

(a) 3312.00g (b) 1075.95¢g
(¢) 1656.00¢g (d) 33120.00¢

IfE vguw i a3 &9 0.92 A § 3R FEEeE v rads fr seweeaeady sAw 2.20
3R 4.00 &, & gr3gioi weiRigs (HF) & gfaeya Hrgor @

If the bond length of H-F is 0.92 A and the electronegativities of hydrogen and fluorine are
2.20 and 4.00, respectively, then the dipole moment of hydrogen fluoride (HF) is

(a) 0.806D (b) 1.612D
(c) 0.403D (d) 2.418D

fFrafaf@a 7 ¥ Fia a1 Faiftw i g7

Which of the following is most acidic?
(a) Bﬂﬂgﬁﬁ?ﬂh / o-nitrophenol (b) =Tl / phenol
() 3N-sHeT / o-cresol (d) TH-SHAT / m-cresol

farfaf@d & @ smad arelt & fRel aad & 97 & Q¥ S W HlaT @1 o1 67 872

Which of the following properties increases from left to right across a period in the periodic
table?

(a) XA 341/ Atomic radii (b)  3TIATRLOT Trdedt / Ionization enthalpy
(c) YA SedAT / Atomic mass (d) tnfeas araASdAr / Metallic conductivity
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frafafla wafear & X 3R Y & 9wgee
In the following reaction identify X and Y

0
CH; CH, lcl—NH2 + Br, * 4NaOH ——= X+ Y + NaBr + 2H,0
(a) X is CH; CH, COOH Y is Na,CO;4
(b) X is CH;CH, NH, Yis NayCOj
) X is CH; COOH Y is NH, CONH,
(d X is CH;CH,NH, Yis NH, CONH,

frfafEa # 4 Hid AT HFS & IOT A &7
Which of the following is NOT a characteristic of an acid?

(a) =Tt fEAw qUT F A FT &ar §/ It turns blue litmus paper red

(b) EaIE @z Aar &/ It has a sour taste
(¢) &R ¥ Fry 9fAfkar & A7% HR gl grar &/ It reacts with bases to form a salt

and water

(d) o AT YR H Aar FC ar § / [t turns red litmus paper blue

T S & WY SRR FF AlOs I §1 27 A TeIAEH F G aE §
U & AU mawes JifEdeter &1 A Rde 87

Aluminium reacts with oxygen to form Al:0s. What is the quantity of oxygen required to

completely consume 27g of aluminium? ,\
(a) 24 b 27
¢ 16 d 30

iR § ¥ e F Pgs 1 39T e uer F Qv R ST 82

Slater's Rules are used to calculate which of the following?

(a) UIA &I ATT [ Atomic mass

(b) AT 35AT/ Atomic radius
(¢) IIERoT AT / lonization energy
(@ wedr AR 3maer/ Effective nuclear charge
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10. ZriRyEd fes & fafesT &1 JH &

11.

12.

13.

The hybridization of Silicon in tetramethyl silane is:

(a) spid (b d2sp
() spd (d) spid
Tarfas gfafFanst w faar &Y,

Consider the chemical reactions,
CaC0Osz > CaO + CO2

NazCOs + COz + H20 > 2NaHCOs
(CaCO;, &1 3NUTAF R = 100g, 3T Na2COs = 106g)

1 Al NaHCO; 3cdesT &%t % AT frdsr I CaCO: &Y Havgwar gy &1

(Molecular weight of CaCOs= 100g, and Na:COs3 = 106g)
How many grams of CaCOs is required to generate 1 mole of NaHCOs3.

(a) 50g (b)  100g
(¢) 106g (d) 82¢

CN Rue @les & aifese, 3oifaw ifdesd W fra soegia B 82

How many electrons occupy the bonding molecular orbitals of a CN triple bond?

(a) 2 by 4
() 6 - d 8
AT 6,6 ¥ JIR Ty rar §

Nylon 6,6 is prepared from

(a) EFARTRAART SIAE 3R 3w vfAs / Hexamethylene diamine and adipic acid

(b) HURAFES / Caprolactone
(c) HuTelded / Caprolactam
(d) eFaARC= sIgaAEa AR e vfagy Hexamethylene diamine and oleic acid
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gfafsrar |,
Si0; + 4HF - SiF4 + 2H:0
1041 I SiF, F1 3cTic FI F AT fraay WA HF &7 3aeasar giar ¢

(HF &7 3orfas gedd= = 20, SiFs & Hvfdsd gegd = 104.1)
In the reaction,

Si0O: + 4HF - SiF4 + 2H:=0

How many grams of HF is required to produce 1041g of SiFs
(molecular mass of HF = 20, molecular mass of SiF.= 104.1)

(a) 200¢g (b) 400¢g
(¢ 600g (d 800¢g

Pefafld # ¥ SiT a1 FRe Sn2 TRk &1 9 Aar 82
Which of the following factors favor Sn2 reaction?

(a) ciig® Fewee / Tertiary substrate

(b) Y FYfFFAEEA / Bulky nucleophile
© g twifes fa@Tae / Polar aprotic solvent

(d) 3T d9AE / High temperature

AT 99T &
Zeeman effect is :

(@) 3mafad fReor & goewm F FAH FoA arver gfota wemrer / Scattered light with lower
energy than that of incident ray .

by faega & & wma F aviwsra @it 1 39S / Splitting of spectral lines under the

influence of electric field

(c) ?:la'sifﬁl'él' 87 & worg 7 aotwAg Y@t Fr fasie / Splitting of spectral lines under the

influence of magnetic field

(@) I90Fd F T FE A€7/ None of the above

fefaf@a # ¥ i @1 AR gad #0F T 82

Which of the following compounds is the most acidic?

(a) CH:CH:0H (b) CHsCOOH
(¢) CHsNH: (d) CHsCl
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18.

19.

20.

gAfafes fdsa & ¥ gar 82

What happens in homolytic fission?

(a)

(b)

©

@

ar AR & €I &1 sl A1SH 813 8/ Two electrons are shared between two atoms

U Soldciel $ THh AT F gF H FUAIRA A1 Sar §/ One electron is transferred
from one atom to another

& g & AR & €7 Rwfo 8, TR F WA F uh soagia wied g &/
Two electrons are split between two atoms, each atom receiving one electron

U GTA] HeHISTd dU+ ¥ g1 Soiggld odl &/ One atom takes both electrons from a

covalent bond

dFdgC U §

Bakelite is

(a)

(b)

(0

)

fsaiter - Wifesess gl / Phenol — formaldehyde polymer

qielr XA / Poly urethane
9iell TAEE / Poly aramide

Tielt $UTAS / Poly etherimde

fFrafef@a 7 @ sl ar geifta ~fFaafses ufeameer sfafsar s e §2

Which of the following is an example of an aromatic nucleophilic substitution reaction?

(a)

(b)

©

(d)

ISH-IFcH UTEFHA / Friedel-Crafts alkylation

HIST-HITEH THTSeR / Friedel-Crafts acylation
Az wfafsar/ Sandmeyer reaction
fafeaaasr $UX |@@WOT/ Williamson ether synthesis
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21.

22.

23.

Prfataa vl ¥ R sa 7§ 7 Rada ger?

What will be the change in energy for the following reaction?

Ha(g)+F=(g)— 2HF

ot T ¥ H, & OF Al # AN & o, TR Felr 436 kJ T F; & UF #Hiel # dAigA
¥ frv yEea Fot 158 kJ @ 81 HF & & A sora & faw, sl 3ot 568 kd &

Given: To break one mole of Hz, energy absorbed is 436 kJ. To break one mole of Fz, energy
absorbed is 158 kJ. To form one moles of HF, energy released is 568 kd.

(a) b42kd (b) —542kd
(c) 26kdJ d —26kJ

ﬁmﬁf@ﬁﬁﬁﬁmaﬁ&:mﬁaﬂaﬁﬂmﬂmwwmm#wﬁ
foar ST 872

Which class of organic compounds are commonly used as fragrances and flavorings?

(a) Ucslgresd / Aldehydes
(b) Fe=q / Ketones

() 3eehlgd / Alcohols

(d) I/ Esters

160mamaﬂmmwalam1ma;aaﬁq¢Hzﬁmm%mgﬁgmaamo.som
o TE 1000 e FF AT §1 R A A T AR F1 A A F

A balloon having a volume of 160 litre is filled with Hz at a pressure of 1 bar. It rises to
1000 m where the atmosphere pressure is 0.80 bar. Assuming a constant temperature, what

would be the volume of the balloon?

(a) 160L (b) 240L
(© 200L (d 120L
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24. TArATH@T F § FiF qUR & FT H S HE07?
Which of the following will act as buffer?

1. CHs;COOH 3T/ and CH;COONa

2.  CHsCOONH,

3. NaCl

4. NH.OH 3/ and NH.Cl f&%0T /mixture

(a) 3%Fad /only b 1,23R/and 4

() 23/and 3Faw/only (d 33R/and 4 Faa/ only

25. fefaf@a 3@ &1 99e 3oue §

The major product of the following reaction is

NH,
NaNO,/H'
H,0
OH ) OH
(a) (b}
(c) (d)
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26, TEARTAT I ¥ FiF frecd GEAT FT YFR Tel 67

Which of the following is not a type of crystal structure?

28.

29.

(a) =« / Cubic
(c) 3rZHINF / Octagonal

PreTafaa wiafFar & 3cue 741 87

(b)
(@

What is the product of the following reaction?

o

NH

Pg/Pis

NEe

(a)

ONa

()
NH,

El?:laﬂ_-’l;_rrl Tetragonal
AAEafa® / Monoclinic

+Br,+NaOH —— P

(b)

(D

ONa

NH,

ONa

Br

U T8 WX TEREE TRk $ ke sEa a1 oy a1 Fr Feen §

The heat absorbed or released during a chemical reaction at constant pressure is called:

(a) UTsddr/ Enthalpy

() HwA Fail / Free energy

Amino acids are the building blocks of :

(a) TEigEae / Carbohydrates
(c) W&/ Proteins

(b)
(d)

(b)
(d)

10

Uw¢idY / Entropy
37aft& Foi1 / Internal energy

Fﬂﬁ?—l’&? vfAg / Nucleic acids
fafrs / Lipids
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30. TFATAIAd T # F$ G Uh o{eT JEF W g H aeifia aar § H#R g an &

3L

32.

33.

34.

9T YTy 3cafold T &

The phenomenon in which a substance absorbs light at one wavelength and emits light at
another wavelength is :

(a) wiaeIed / Fluorescence (b)  TPIENTT / Phosphorescence
(c) *4fA78H / Luminescence (d 3IWEFT G/ All of the above

STP 9¥ 0.25 A Fe=T SEAFARS I F 3gdeT (L #) T 32
What is the volume (in L) of 0.25 moles of carbon dioxide gas at STP?

(a) 56L (b) 56x103L
() 224L (d) 0.056L

2p 3USrer F Tl Hr JFIA TEr Faer g GFar §7

What is the maximum number of electrons that can occupy the 2p subshell?

(a) 2 (b) 6
c) 8 d 10

0.1 M HC] faoia=t &7 pH AR &iam &
The pH of a 0.1 M HCI solution is

(@ 1 by 7
© 10 - @ 14
AUA R R g@ F AT g9 aRHSNT 3 & aUel giar 8, eelldl §

The temperature at which the vapor pressure of a liquid is equal to atmospheric pressure is
called :

(a) HIfa® d9AA/ Critical temperature
(b) FaUAT® / Boiling point
(c) IAATR / Melting point

(d) 3tdur feg/ Sublimation point
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35.

36.

37.

fPrafaf@d # ¥ &9 a1 ATARSA & 3T 87
Which of the following is an example of metamerism?
(a) CH;CH,O0CH, CH,4 3R /and CH, -O-CH, -CH, -CH,

0
[
() CH,-C-CH, 3X/and CH;-CH, CHO
(¢ CH; - CH, - CH, - OH 3R /and CH; - CH OH - CH,

(d) 3FRFd A § FF 161/ None of the above

e 3RS $T JET &
Composition of Ziegler-Natta catalyst is :

(a) (Et3)sAlLTiCl (by  (Me)sALTiClz
() (Et)sALTiCls (d) (Et)sALPtCls

Erfafaa vk @ sifaw 3o = 82

What is the end product of the following reaction?

V505
—
H,O
Ptv'H,
COOH
COOH
CH=CH, ' (;}}
(a)
COOH
OH
(c)
CH,COOQOH
(d)
OH CH,COOH
12
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mm%mmq*mmmwga@ﬁﬁmmmma
el &7

What is the maximum number of electrons that can occupy the third energy level of an atom
according to the Aufbau principle?

(a) 2 b 8
() 18 d 32

zﬁﬁmhhﬁsﬂaﬁﬁrmmﬁaﬂtmmﬁﬁwm

What is the electron pair geometry and molecular geometry of the compound XeF,?

(a) FepIofRy haftufasa, m! Trigonal bipyramidal, tetrahedral

(b) 3ITHATRE, FATHR TNT / Octahedral, square planar

(c) 2gTIegd, ¢glesal / Tetrahedral, tetrahedral
(d) I THAHIT, TASHARI / Octahedral, tetrahedral

IEARE g, Sfadas 3R qgeires et & FaueE @ e 8
Order of boiling point of isomeric primary, secondary and tertiary amines is:

(a) WURAF > AregiAw > eI / Primary > secondary > tertiary

(b) HFAATAF > yrafdH+ > F(I_T-ﬂ'ﬂa?l Secondary > primary > tertiary
(¢) qdras® > ATeAfAF > GWAUfde / Tertiary > secondary > primary
(d) #AI@As > Fj_?-ﬁ?ﬁn' > qrafA® / Secondary > tertiary > primary

1.0 nm (1.0 x 107 cm) & fsawr o dfZaw & aoer w0t & [Bu, gow
12.023 glem® ¥ 4AMBIA & el AN AR A TG H ITAGT FY

For a spheroidal nanoparticle of palladium with radius of 1.0 nm (1.0 x 10-7 cm), estimate the
moles of palladium and the number of atoms, given the density is 12.023 g/cm3

(a) 185 by 285
() 385 (d) 485
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yed AW & fav gdgaar FRF &

The compressibility factor for ideal gas is:

(a) YT /Zero b 1
© >1 @ <1
TR 9 WA 399 £

Proteins on hydrolysis yield
(a) o -UAAT vfdS/ amino acids

() A UTAAT U8/ amino acids
(c) .‘y- AT ¢fAT / amino acids
(d) 3IREFd & § FS F78T/ None of the above

Rrowfafle & & T & Iy FR A g §2

Which of the following bonds is the most polar?

(a) C-H () O-H
¢ CO (@ N-H

PAfAfEd F ¥ Pl W aT FEA T Jon F F7 faggd HONHS §?

Which of the following elements is less electronegative than carbon?

(@) Si ®» N
@ Cl ' (d F

THTAF T ITT ATHR T eIl & HROT FOX g1 Al &

Natural rubber gets stiffened on vulcanization at higher temperature due to:

(a) H T W AT Y8R/ Thermal expansion upon heating

(b) gEﬁH HGAT &7 [AAOT / Formation of coiled structure
(© QY §Ya TUEl 9 H@ell H fagel« / Cleavage of the chain at the double bond locations
) TEw F I yfafrareha wel @ wafes # AT/ Formation of crosslinks at the

reactive sites with sulphur
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47.

48.

49.

0 so.

51.

rfafad & @ Fea sEAfFaEs, CO: ¥ T 7 qfw wyaen wia @ §2

Which is a correct Lewis structure for carbon dioxide, CO2?

@ 0Q=C=0 ®  :0=c=0:
© :0=0=0: @ :0—C=0:

F=faf@a & @ FiF I 1699 &1 3RET TE 2

Which of the following is not an allotrope of carbon?

(a) AHST/ Graphite (b) &RT/Diamond
() Porie / Fullerene (@ AR/ Silica
SR ot
Complete the reaction
H,0
CH, CO CH; + C,H;MgBr »
() (CH3),CHOH + C;H;OH ) (CH3)COCHs + Mg(OH)Br
© (CH3),COHCHs + Mg(OH)Br @  CHisCOCH; + MgBr,

UF AT FAICA WA 4 | 3 WA Ferhi A1 JiFaw dear ¢

The maximum number of atomic orbitals associated with a principal quantum number 4 is:

(a) 16
{c) 4

® 12
d 8

TRA] A & geaA Far 8, T awar o & XA

What is the mass of an atom A, represented as x A ?

(a) Y/6.023 x 10%3
) X+Y)/6.023x 102

by X/6.023x 102
(d) XY /6.023 x 1023
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52.

53.

54.

55.

ﬁmﬁ‘@aﬁﬁﬁmmﬂmmﬁ?

Which of the following molecules has a linear shape?

(a) NHs (b) HaS

©

CO2 (d H:CO

fmfaf@a ufafear & &8 3cue 1 ugae #

Identify the correct product(s) of the following reaction

NaOCl
CH,; CO CH; » 7
(@ CH,COOH+CH,CI (b) CH,COONa+CH,CI
(¢ CH,COONa +CHCI, (d CH,COCl+CH,Cl

raf@d i & AT @@ IUPAC a1 @i a1 § ~CHs—CHe—CH(CHa)-CHz—CHa?
Which is the correct IUPAC name for the following compound —CH:.CHz—CH(CHs)-CH2-CHs?

(@
(b)
(c)
@

2-fArurSAeF A / 2-methylhexane

3-fAarEseded / 3-methylpentane
4-TUSEeF AT / 4-methylhexane
2, 2-afAYSauesT / 2, 2-dimethylpentane

dzar wfafear §:

Sandmeyer reaction is:

(a)

()

(c)

(d)

WW#W#WWWWW#W/RepIa%meM

of diazonium group with halide ion in presence of Copper powder

T (1) a7 U & SHATATA FHg F LSS AT AFASS A ¥ TS /
Replacement of diazonium group with halide or cyanide ion in presence of Co (II) ion

Cu (I) et &1 Uity & sHAIRA 6F 1 §a1ss A1 WiEAgs I & gioeemad
FT / Replacement of diazonium group with halide or cyanide ion in presence of
Cu () ion

Cu (ID) 3ma= #1 3ufeufy & SR THg & LaEs A1 A13A158 AT & Jiaemad
FT / Replacement of diazonium group with halide or cyanide ion in presence of
Cu (II) ion
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56.

57.

58.

59.

60.

fAeafaf@d & @ P Hmer &  gFa WEa, & SFodwsa IR soegwga
glar 87

Which of the following series contain a free radical, a nucleophile and an electrophile?

(a) Br- BFs NHs (b) NHs NO:* Br:
(¢ H:0 Cl' NH; (d) Cl: CH4 NH:

Refaf@a # ¥ fra Rgga groda [JfRr & FEded sftean aidr 82

Which of the following electromagnetic radiation is having maximum wavelength?
(a) TFH ¥/Xray (b) AT AT/ Radio wave

(©) vy fFTor/yray (d)  9EIEAT/ Ultraviolet

efaf@a 7 @ sl9 a9 a9l o1 3aEor §2

Which of the following is an example of a meso compound?

(a) 2-FARIETE / 2-chlorobutane (b) eIER® UTAS/ Tartaric acid
() ofFes i@/ Lactic acid (d) uidw udee/ Ethyl acetate

ar FreffFstios s aogh & §7 # Hofas AT 116 THAMS an U A0F g1 & ufy
e A gowey v & 4l & vfag o =1 &2

A compound with molecular weight 116 g/mole as two carboxylic acid groups. What is its acid
value in terms of milli equivalents acid per gram of the substance?

(@) 10.6 (b) 145
© 17.2 ' dy 208

dAfesges &t AIftTH gesiauss & A1y 39Ud Far S § o i @ 300 a9 &2

What are the products formed when benzaldehyde is treated with sodium hydroxide?

(a) doreE Uil 3R IS8 3ePIEd / Benzoic acid and benzyl aleohol

(b) dorsw vz 3 9f5e d9vE / Benzoic acid and benzyl benzoate
(c) somga doive HR §A18A / Benzyl benzoate and benzoin
(d) dqmEer ewed AR 98 &§UE / Benzyl alcohol and benzyl benzoate
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61.

62.

63.

64.

65.

el @ dafeserss A TRakid fFar I &

Toluene 1s converted to benzaldehyde using:

(a) RS viAT/ Chromic acid

(b)) BIAST FERES / Chromyl chloride
(¢) GRATH gESFAES / Potassium hydroxide

(d) TR TRAE/ Sulfuric acid

fifof@a F & #la @ 3] ssaawn favyg et vl #war 82

Which of the following molecules exhibit the highest dipole moment?

(2) CHCls ®) CHsCl
(¢) CCL (d) CH:Cl»
fArfaf@a It 7 @ @i e 82

Among the following molecules, which is paramagnetic?

Ha, N2 3/ and O

(a) @/ Both Hz 31X / and 02 (b) H:
() N d O:

frafaf@a # & Fia ar sgda 1 @EaeAs HFEAET 87

Which of the following is a structural isomer of butane?

(a) #AT/ Methane (b) 9N/ Propane

(¢) 2-TRasaids / 2-Methylpropane @@ 2- ﬁﬂm‘?ﬂ'/ 2-Methylbutane

ufafeede giar ¢

Acetylene contains

(a) 3 T87AT 915/ 3 sigma bonds

(b) 3 =x FS/3 7 bonds
(© 3 fa9Ar 3R 27 S/ 3 sigma and 2 n bonds

(d 1 A iR 2x a=/ 1 sigma and 2 & bonds

18
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66.

67.

68.

F=fRf@a & & i @ CO: i was Fa & BT g9 Fagaa ae=s 22

Which among the following is the most sensitive technique to identify CO2?

(a)
(b)
(©
(d

TFa-y 9fadifT / X-ray fluorescence
AI-TRIAA / UV-visible

ScTATS / Mass

&3 / Infrared

Firmias viE AR TergRes vfis & BT &1 A S S aer &

A mixture of oxalic acid and sulfuric acid can be estimated by:

(a)

(b)

(c)

(D

?ff\ Hhdhl FI ITANET X WZIA FElAC & @ HTA / Titration with sodium
carbonate using two indicators

aifzgw gggiewegs, AR9A FEfAe & 39T FF HIATT / Titration using sodium
hydroxide followed by sodium carbonate

WfzaA grggierarss, RRH wHRe Al & T IFFAIT N FAiewT / Combination of

titration with both sodium hydroxide and potassium permanganate

IADAY & WA FEFFARS F SUWT FF FFANGS / Titration using sodium
hydroxide followed by iodometry

TEA & YW F He[AR

According to Graham’s law

(a)

(b)

(c)

(d)

m*m@fﬂmﬁﬂﬂﬁ*mﬁa\ﬁ*W@WM?/Ratesofdiﬁ'usionof

gases are directly proportional to square root of their densities

At F FEwor 7 T AT 396 odd F Wﬂm'cﬁ 81T & / Rates of diffusion of gases are

directly proportional to their densities

Nt F AT i €7 37 gca F T F A Ieaiici € / Rates of diffusion of gases

are directly proportional to square of their densities

#HT3?ﬁ'&TUTiﬁI'Hmﬂﬂr_d*W%WW?/Ratesofdiffusionof

gases are inversely proportional to square root of their densities
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69. 2r it 9t RER &t

Consider the two compounds

70.

71.

C:OOH HsC
| mmCHy i __COOH
s OH

OH

d & / They are :

(a)
()

feriaf@d # & fraa geraer Y 2@ sgefipa w81 fram S w@ar 82

TAFCI3AY / Enantiomers (b) SEFRAFAT / Diastereomers
¥AET AAF / Identical compounds  (d)  HAYT ISAHY / Meso isomers

Which among the following cannot be polymerized by cationic method?

CHy
H,C—=————~CH
H,C i
(@) b
CHy CN
O _OH
O
/ \ N
© @ ~
H2C ————CH2 o
concentrated o
H,S0, 200°C, O,
C,H;OH » X >y
170°C 2000 atm
X3iIRY&E:
X and Y are:
(a) Xis: CH2=CH:z Yis: -(CH2-CHz-)n
(b) Xis: CH:COOH Y is: CsHs
{¢) Xis: CH:CHO Y is: (CH20),
(d) 39T A ¥ TS 7187/ None of the above
20
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73.

75.

s St garar & 5 Rl A & faRRer i 2 3% gecd & F9H F gohARErT gkl g,
FEAT ¢

The law that states that the rate of diffusion of a gas is inversely proportional to the square
root of its density is called:

(a) TBA F AIA/ Graham’s law (b) &G T [HFH / Boyle's law

(¢) T oH F @®lele1 / Charles’ law (d) sTeeeT & @93/ Dalton’s law

e wfafsear & dqe Ruis @ At Asw JFa o Nacs & Agar wa=or & A
T 87

What is the name of the equation that relates the equilibrium constant of a reaction with the
standard Gibbs free energy change?

(a) =< 8% FHHIUT/ Van't Hoff equation

(b) Tei¥e FHFIUT/ Nernst equation
(¢) 3" FHAGOT/ Arrhenius equation
(@) Trem-geragiecar TSI/ Gibbs-Helmholtz equation

qg geol Y A T o GRedl ¥ JeRa w9 o ol & faanfaa g S
FEeH &

The phenomenon in which a beam of light splits into two beams when passing through certain
crystals is called :

(@) H9aA= / Refraction (b)  Tad= / Diffraction
()  &[dIIUT/ Polarization (d) gfdN9acs / Birefringence

Ao 3, FEe sEitrass A9, e du F BT sE et B SRl 9T 150 kPa
#T Fol 9@ STad gl I ABPSAT F HifF @@ 100 kPa § 3R FEa agaiaEs @
FHITAF gaG 24 kPa g, dF e &1 30+ g 41 32

A mixture of nitrogen gas, carbon dioxide gas, and oxygen gas exerts a total pressure of
150 kPa on the walls of its container. If the partial pressure of nitrogen is 100 kPa and the
partial pressure of carbon dioxide is 24 kPa, what is the partial pressure of oxygen?

(a) 16kPa (b) 26kPa
(c) 36kPa (d) 46kPa
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76.

77.

78.

79.

80.

TaEEE AfEAfEa & e aRads A Far §

The enthalpy change of a chemical reaction depends on :

(a) FAFRS! 3R 3ol A yRfBE 3R 37 3@EAEit W/ The initial and final states of
the reactants and products

(b) wRAfear & agA 9T/ The temperature of the reaction

(c) Wiafshar & Z&1d 9/ The pressure of the reaction
(d) HRFRPr 3T IcaEr Fr Figar 9/ The concentration of the reactants and products

300 K 9T 1 atm &F X T&F 3F 10 L 3¥a4 O &1 afe amaa 600 K a& a@gr f&ar sme
3R zae fRux @ S, & A9 & S HEdas g

A gas at 300 K and 1 atm pressure occupies 10 L volume. If the temperature is increased to
600 K and the pressure is kept constant, the new volume of the gas will be :

(@ 5L b 10L
(© 20L d 40L

250 mL NaOH fae@= & 10 719 NaOH o fawaar & wrAgar 1 arorr
Calculate the normality of a solution containing 10 gram NaOH in 250 mL of NaOH solution.

(& 01N (b) 1N
¢y 10N (d) 100N

-gha Rgid 39 aror W 3eia § &

The Debye-Huckel theory is based on the assumption that

() O #H AT TEed ¥ ¥ fAaRka gid & / the ions in a solution are randomly
distributed

(b) T H HGT AT aTAaIor A Y 814 &/ the ions in a solution are surrounded by an )
ion atmosphere :

() T F T FFgECied TRERE BFar & AT g & / the ions in a solution are free

from electrostatic interactions

() o 7 3T v AR sitad # caaffud @1 &/ the ions in a solution are arranged in

a regular lattice

e A 27°C W 8dm?® F 3MTaw ¥ 80dm? Fuda &7 & /rafia ad &1 afe i & A
# ¥Er 5 &, ar veerdt i 9uRader & v #°Y

An ideal gas expand reversibly from a volume of 8§ dm? to 80dm? at 27°C. If the number of
moles of the gas is 5, calculate the change in entropy

(a) 41.55 JK! (b) 9.57JK!
{c) 95.7JK? (d 4.15JK!?
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